PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
25th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Which of the following is a source of income of the Gram Panchayats? / o & Q S 1 I v @ o
ST 9 372

® Income Tax / THY

e Sales Tax / f[ashIdR

® Professional Tax / SATAATAP B

® Levy duties / Srfafad a2
Correct Answer :-Levy duties / 3{fafRad &%
2)

Question Stimulus :-

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb — July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. / T forar fafira smad= o 3 woe S7TdT 8 -9rad, g iR SR | 9199 fH-7da%
TN & T, Brad) iR Jars & S NE, Sragar-ATd & 91 R I STl 81 T® vHd | ga1s 9 Herg
& fU 3 HEA @vd € | U 9T § $ad U B d ST off bl gl

If the farmer sows Jowar in January, when can Wheat be sown at the earliest? / Wﬁmm o SR 9dT %, ar
g P Weg | Teg $d ST AT JHdT 32

* April / 30
* May/¥%
e June /A
e March /ATd
Correct Answer :-April / 30d

3)

Question Stimulus :-



Who founded the Mauryan empire? / H Irordw @Y RITYET fopaa a9
* King Dhanananda / XTSIl Y-ITg

® Ashoka/ 3/=N®
e Vikramaditya / f[aspHIG

® Chandragupta / I-[Wl

Correct Answer :-Chandragupta / =3[

4)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFrafafad vy o e Irde $U & <) B oaaT HY 3R 3P 916 A T U e § § g9 Suyge
3IHH BT I D

1. Country 2. Furniture 3. Forest 4. Wood 5. Trees

1. ¥ 2. BARR 3. a9 4. dHS! 5. US

1,3,5,4,2

1,4,3,2,5

2,4,3,1,5
e 52314
Correct Answer :-1,3,5,4,2
5)
Question Stimulus :-

is a former Indian cricketer and an office-bearer of the Madhya Pradesh Cricket Association? /

—, qd yRd frdex T 9w USW ke 69 ¥ TH ey 82
e Sanjay Jagdale / Tod STGIA
® Rahul Dravid / ITgdl 31%3
e Jyothiraditya Scindia / SOifaRTieed fRifemr
® Girdhari Lal Yadav / RRYUT @rer area

Correct Answer :-Sanjay Jagdale / Ioig STeTe



6)
Question Stimulus :-

Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than Akbar. Sohan
too is not as tall as Salim but taller than Akbar. Who is the tallest? /3[gH¢ IoilH I &dT &l
ey 3rgre FoTa-T a1 8t 8 W 3rpaR | da1 81 Jed Wt Teftw e dar 78 @ W erdear ¥ &4 3
Iy &dT B 82

® Salim /ﬂ?ﬂ'q
e Akbar/3PpdR

e Sohan /g

e Sohan & Akbar /Hg 3R HaER
Correct Answer :-Salim / JIH
7)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawpeq qﬁrq,\‘:ﬁ Lk E'@

AR EFF I IAFR

If Kajal is young then she will be selected for the job. / 3R PIed gdI %aﬁﬁﬁ%ﬁm
IADT TI gl AT

e If Kajal is not young then she will not be selected for the job. /ngﬂqﬁ%ﬂ
At & e It 99 78 g

e If Kajal is selected for the job then she must be young. / 3R &3 & T Hroret &1
T §3MT § Y 98 gar erft |

e If Kajal is not selected for the job then she must not be young. /Wﬁ@‘ﬁ%ﬁl‘q
PIoTel T TI -TE1 §3M 3 1 98 a1 =181 gt

* The job requirement cannot be matched by the old people. /W?ﬁmq&'ﬁ"ﬁﬁ
Ad T8l W1 gt

Correct Answer :-If Kajal is not selected for the job then she must not be young. / 3

AN F T Hrorer &1 7a+1 =81 g @ < 98 gar =8t grit

8)
Question Stimulus :-

Who founded the “Bachpan Bachao Andolan”? / “SIu< g3l 3figiad” &t RU-T fFaa &t d?



® Maneka Gandhi / HeTHT mich

® Teesta Setalvad / ST m
® Kailash Satyarthi / Farr garf
e Kiran Bedi / fvor 9

Correct Answer :-Kailash Satyarthi / a1 Feardf

9)
Question Stimulus :-

Which currency note in India is mainly green in colour? / HIRd # o9 Hf s e 3 =4 g & T Dt
gt 82

® Rs.5/ 50

® Rs.10 / 10 o
® Rs.20 / 20 o
® Rs.50 / 50 ¥o

Correct Answer :-Rs.5 / 5 ¥o

10)
Question Stimulus :-

Vice-President of India presides over / HRd & Ecr-ﬂgcrﬁr P el HId %I
® Lok Sabha / GIGEHT
® Rajya Sabha / ITSOHHT

® Vidhan Sabha / fIUT IHT

® Union Cabinet / W qﬁ'ﬂ%ﬂ

Correct Answer :-Rajya Sabha / ITSOHHT

11)

Question Stimulus :-

Which one of these is the world’s third highest mountain? / E:F}I 3 AR i gﬁ'ﬂT &1 T g S Ad %?
® Lhotse / @T\q



® Kangchenjunga / CEE
® Godwin Austen / TTSfa 3
® Everest/ @W

Correct Answer :-Kangchenjunga / d-ToiTT

12)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be? / 318 TR 3Tpfa fafia t9el wR fewrsi & 1y famn o foar e
I fearet 8 | = fewrsal ara sl ) 7R S189 €] Wits $A W, B T 9471 SN2

Correct Answer :-

13)
Question Stimulus :-

Hindola Mahal is located at ./ %@W Hed ¥ fRa %I

e Seoni / fa=t
® Naresar / TR



® Anukhana / SJ@TAT

® Mandu / 'FI'I§
Correct Answer :-Mandu / {ig
14)

Question Stimulus :-

Which of these is the second longest river in Madhya Pradesh? / 3""|'el q o9 A aeg yer A m Y ddl T8t
®?

® Swarna/ W'Uf

® Chambal / 9dd

° Narmada/qﬁﬂT

e Son/¥HH
Correct Answer :-Chambal / 99d
15)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fase gfQ
it f3E e Hy=Y vd fsnuf F 9 § 9 2

Statements: / $YA:
Some detergents are soaps. / P9 fSevie DIEGH gl
All soaps are powders. / 94 g TR B
Conclusions: / fmd:
I. Some detergents are powders / I. $S fdesic USST &
II. All soaps are detergents / II. 9} g fesic &
® Only conclusion I follows / *ad freepd 1 Apadr %
® Only conclusion Il foIIows/WﬁWﬂf i Fereaar %
® Both conclusion | and Il foIIows/Eﬂ:ﬁ fed 1 8k 11 e %

® None of the conclusion I or Il follows / fepd T a1 1T & & aﬁ'sf T3 fPadr g
Correct Answer :-0Only conclusion I follows / Had fspd 1 fApadr %



16)
Question Stimulus :-

A girl introduces a man as the son of the brother of her mother. How is he related to her? / T ?I'gﬁ Udh G'ITE.‘Tﬁ Caj

e g% Beax St 2, P 98 U uf & Wi 31 17 B 95 Su 9 veR walla 22
o Brother/‘l-l'l".ic

® Uncle / dTdl

* son/Ud

® Nephew / HellSIT
Correct Answer :-Nephew / Hd ISl
17)

Question Stimulus :-

Which of the following is NOT a motion in the Indian Parliament? / g A Q o9 a1 HRd I BT Wqﬁ

&

® Adjournment Motion / T YXITd

e Exit Motion / {1 wdTa

® No-confidence Motion / Gﬁm UxdTd

® Privilege Motion / iR wame
Correct Answer :-Exit Motion / fFRTH wRaTa
18)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg e g&l’({,ﬁﬁ a& Bt &P
ARRETFA ST IR

It is not True that both Billa and Ranga won the match / I8 99 78! § & fyear 3k T =t
J A oftar

¢ Billa won the match or Ranga won the match / faremr A A= <ftar ar 3w A A oftar
¢ Billa won the match and Ranga won the match / faremn A A= siiar iR 37 A 8= Sitar

e Billa lost the match and Ranga lost the match / fae 89 R a1 3R 3 A9 81 14T



* None of the above / SWRIad &I gl

Correct Answer :-Billa won the match or Ranga won the match / faemn A A Siarar &m A
B Sftan

19)
Question Stimulus :-

The yoga system of philosophy was given by / 3"\’&[ P N7 et fpad aRT a TI% |
® Panini / Trfort
® Patanjali / Uderfer
® Vyasa /UMY
® Kannada / PAS

Correct Answer :-Patanjali / GdoITel

20)
Question Stimulus :-

Sarita is the only daughter of Vimala whose son is Pramod’s maternal uncle. How is Sarita related to Pramod? /

af¥dr, fawer $1 soard! T 8, e g w6ig &1 747 8| |fvdr yhic @ fog yer deafid 82

Sister / dgd

Mother / |1

Son / A

Grandmother / ardt

Correct Answer :-Mother / AT

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gﬁrq
Sit 3T T Y=l Td el & R § 9E R

Statements: / ®YH:
All boys are players / T4 7% f@ars &
No player is bad / &3 fQars! @9 81 @



Conclusions: / fm:
I. No boy is bad / I.® de®T R8¢
II1. All players are boys / II. ¥ Q@S as& g

® Only conclusion I follows / Pad frswY I frHedr g
® Only conclusion Il foIIows/WﬁWﬂf n fereear %
® Both conclusion | and I foIIows/Eﬂ:ﬁ forepd 1 Gﬁ? II fpad %

® None of the conclusion I or Il follows / fepd T a1 1T & & aﬁ"&: T3 fPpadr g
Correct Answer :-0Only conclusion I follows / Had fspd 1 fApadr %

22)
Question Stimulus :-

‘Thermometer’ is related to ‘degree’ in the same way as ‘Clock’ is related to /

yridier ddfta 3 ot & S vor A e o w3t wafta 3 94
o wall / §ERR
* Time / §HY
® Hour / YUCT
* Needle / T3

Correct Answer :-Hour / 90cT

23)
Question Stimulus :-

Who has been the youngest person to have ever become a Chief Minister of any state in India? / P I FH

39§ URd & ot Io9 & g a2
® H D Kumaraswamy /U9 S PHRER
® Akhilesh Yadav / 3FaaI=I a1¢a
® Mamata Bannerjee / HHI CEiif

® Omar Abdullah / 3HY 3egcdl

Correct Answer :-Akhilesh Yadav / 3f@dr areq



24)
Question Stimulus :-

The largest coal deposit in Indiaisin ./ HRd A 999 aﬁ HIYAT FTHT L H %I
® Godavari Valley / Tﬁ?ﬁ'\ﬁ Tl
® Brahmani Valley / W'Uﬁ Tl
® Damodar Valley / ETFﬁH? Tt
® Satpura Valley / HdYsSI °TéY
Correct Answer :-Damodar Valley / I 9Tt
25)

Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only crop can be

grown. / T fopar= frrafira smad<1 o 3 Ba ST 8 - A, B, €1 A S A HER & &1, 1S g s d=
B 3R ¢ 3T -feiaR & FHa 3w Tl 31 Ul BOd § gars | Hels & (4 3 A od 8| T g0 o
$Id TH B ST ol APl g

If A is sown in May, when will A be sown next? /UﬁAﬂgﬁEﬁﬁ Fi'l’cﬁ%,?‘ﬁéﬁ'l?ﬁWAﬁiﬁﬁ wrafY?
® January next year / 3T 9T SHast H |
® February next year / 3TS T BRas! |l
® March next year/mmﬁﬂ'ﬁfﬁl
® April next year / 3TS TS 30 F
Correct Answer :-February next year / 3T AT Brast A1
26)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁﬁ,\_rﬁ TP DI T

AR FIaE R :

If the pitch is not good then Sehwag will hit a ton. /Wﬁﬂ@ﬂﬁ%ﬁ%ﬂﬁﬂﬁml

e If the pitch is not good then also Sehwag will hit a ton. /Wﬁﬁmﬂﬁ%ﬁ i
HEaNT & AT

e If Sehwag hits a ton then the pitch is not good. /WWE’HW%H}[W&@W



gl

e If Sehwag does not hit a ton then the pitch is good. / 3R JgdNT e &l ARdT g i fra
3=t B

e If Sehwag does not hit a ton then the pitch is not good. / 3R EANT e Ta! HIRdl %\'-ﬁ
fora et 1Y 31

Correct Answer :-If Sehwag does not hit a ton then the pitch is good. / 3R Hgd’T ¢+
T8 wRar @ @) o et B

27)

Question Stimulus :-

At the apex of Judicial system of India exists ./ HIRd P TS yomelt & A w® _Tﬁq?.{ %I
® High Court / 3= <TATe
® Panchayat Court / UTId AT
® Supreme Court / ITdH AT
® District courts / FoT@T =TT

Correct Answer :-Supreme Court / IdH A™ATAY

28)

Question Stimulus :-

In which of the following minerals is India not self-sufficient? | Frrafafea @t | | fead yRa stk
T8 82

® Copper / GIEL

® JIron ore /Il ?ﬁ?T

® Manganese / Arer

® Mica/ YD
Correct Answer :-Copper / didl
29)

Question Stimulus :-

The CEO of Google is / T[ITeT & ;ﬂi@ﬁ %



® Larry Page / & i

® Sergei Brin / Tiff foer

® Sundar Pichai / Jax ﬁil's‘

® Satya Nadella / HcdT arsar
Correct Answer :-Sundar Pichai / o3 fU=rs
30)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IBCRE] ﬁ, IR eg fea
T g, fRoFd @ i foesdft R @ qurH € SR STa) U SrenT B| SET 9Tl [T S|

e Gold / @uf
e Silver / didl
® Mercury / URRq

e Aluminum / Tgfifaa

Correct Answer :-Mercury / UR¢

31)
Question Stimulus :-

Under which ministry is the National Institute of Hydrology established? / g vaTeg & ded A fag T &
TP HRIT Y RITGT St A 32

® Ministry of Drinking water and sanitation / YgoTe 3R T3 dT HATad
® Ministry of new and renewable energy / T84 3R Tl St warey
® Ministry of Agriculture and farmers Welfare / Tﬁ 3R frarl & Hearor HATTT

® Ministry of Water Resources, River Development and Ganga Rejuvenation / ST¢T JHTYH HAT, T-I'((p[

fara 3R T TRam

Correct Answer :-Ministry of Water Resources, River Development and Ganga Rejuvenation / STe HHTH

32)

Question Stimulus :-



What is the total number of seats allotted to Madhya Pradesh in the Rajya Sabha? / T HHT H aeg uex & ford

o fpadt A amdfed &
°* 12
° 15
°* 11
* 9
Correct Answer :-11

33)
Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is

twice the age of Latha. / 3ifSr,#fgHT, 3o, @11 3 Studt ure == 94 €1 erfaur, afgwar ¥ s o
gﬁ:ﬁﬁélwﬁwmﬁaﬁsﬁ% ifrer 3 39 drueht |/ amsht ¥ ofR IO 9 3 @1 | SREY
|

Who is the youngest? / I9d Bt P 82
e Deepti / Siudt
e Rajan/ ISIH
e Latha / dYl
* Anitha / 3ffet

Correct Answer :-Latha / 94T

34)
Question Stimulus :-

P,Q R, S, T, Vand W are seven members of the family. There are three female members.
Each of them has a difference profession-Lawyer, Chartered Accountant (CA), Engineer,
Teacher, Doctor, Architect and Pharmacist. .No Lady is either a pharmacist or a chartered
Accountant. Each of them has a different monthly income. The chartered accountant earns
the most. S, the engineer, earns less than V, the doctor. R, the teacher, earns more than P
and less than S. W'’s wife earns the least. T is an unmarried lady Lawyer and she earns less
than P and more than only Q. The pharmacist’'s income is not thelowest / P, Q, R, S, T, V
3R W TP IRAR & 1Y G g1 I8 A 9 3R & 3N AT UM 3 8- aald , T4 AWPR
(C.A),3ifirdan, Rere, Siaer, ReueR iR siuy fashar v ot iRa siuy fashar a1 <1 d@aR T8 g1
STH A TP B! RIS 3T TP GO A 3@ § | T AWAHR D1 3 Gad sq1e1 21 S e &t 3 v
Siqey 9 HH At R e/ F 3 P A HGT 3R S A $H &1 W Bl U] $1 30 Ia9 &4 | T ifdaifea
TR g 3R ITD! 3T P A FH 3R Fad Q A WISl g1 3Ny fAhar 1 3y e 4 781 81



What is P’s profession? / P &1 IdHT T %?

® Pharmacist / 3Nyy faspar

e Lawyer/ 9&id

e Teacher / e

e Date inadequate / SIcI &rqufl?r%
Correct Answer :-Pharmacist / 39y faghdr
35)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁ'G
Sit 3T T Y=l wd el & R d 98 R

Statements: / ®Y:

Most apples are oranges / (Ui 9 R &

Some oranges are pineapples / $9 ¥ A %
Conclusions: / fapd:

I. Some pineapples are oranges / I. $9 WW?

I1. Some apples are pineapples / I1I. $9 AT A %
® Only conclusion I follows / *Had fsed 1 fAeadar %
® Only conclusion Il foIIows/aﬁﬁﬁW& n freadr %
® Both conclusion | and I foIIows/a':ﬁ foreed 1 GﬁT II fead %

® None of the conclusion | or Il follows/ﬁ'wﬂf IGTIIH 9 ﬂﬁ"f T-I'(ﬂ e %
Correct Answer :-None of the conclusion | or Il foIIows/ﬁWﬁf IGTIIH A aﬁé T8I fFreddar %

36)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ', TI?% ar qﬂ-}f & di= fedt
TR A P Gad g| 7 fawet & J d@tur ug 3R Rraer R ug & I1y 33} ueR &1 J9Y g

Pen:Ink::PenciI:?/aq:Wlﬁ::a:ﬁlﬁ:?



® Knife / B3

® Write / INECRIN

® Lead / i

® Chalk / dI®
Correct Answer :-Lead / WIS
37)
Question Stimulus :-

If the sun is setting towards my left, which direction | am heading? / XSl A 978 o g4 el 8, ot # frw ferm &
TR &2

® North /3

® South / Gf&T

* East/ X9

® West/ uf3w
Correct Answer :-North / 3R
38)

Question Stimulus :-

One of the following instrumentalists played the Shehnai / fFrrafafad aeei & @ Udh m CEIC] %

® Hari Prasad Chaurasia / 3'\& UdTq IR

® Bismillah Khan / ﬁﬁmw

e N Ramani / TF YHURY

e TR Mahalingam / &t 3[R HgTTH
Correct Answer :-Bismillah Khan / fSf®eare @ =
39)
Question Stimulus :-

If Tuesday means a world war, and it's not Tuesday today, then it’'s a world war. /afe
HITAAR $T Adad U 9y T3 §, iR 3o TreaR 81 8, 9 98 0 fay g 81



e True / Hgl

e False / Tdd

e May be / Bl IPar @

e Irrelevant / 3UTERI®
Correct Answer :-False / TTdd
40)

Question Stimulus :-

Which of the following is the '"Marble Rocks City' of Madhya Pradesh? / g d @ $19 9 e &1 SIRES

FgHI BT W' 32
® Orchha / 3R®I
® Jabalpur / TEAR
® Murwara / ai_T
® Seoni / I

Correct Answer :-Jabalpur / STdCIyR

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

What is the sum of xy, 2xy and 7xy? / xy, 2xy 3R 7xy DI Gﬁzw e
° 11ixy
e 10xy
e 10
e 73
Correct Answer :-10xy
2)

Question Stimulus :-

A bookseller gives 16% discount on the marked price. What does a customer pay for an article whose

marked price is Rs.750? / U J&id fashdl RIS BIHd U 16% T 3T 2 | TP UTeP U a&g b forg Rraept



fRifga #1ud 750 U B, & T F41 YA HRa1 82
* Rs. 845.50 / 845.50 Ul
* Rs. 645.50 / 645.50 TUd
* Rs. 745.50 / 745.50 $UL
* Rs. 545.50 / 545.50 ¥Ud

Correct Answer :-Rs. 545.50 / 545.50 T3

3)
Question Stimulus :-

20! 20!

Evaluate 18! / 18! PT HH BRI :
® 390
® 380
® 400
® 395
Correct Answer :-380
4)

Question Stimulus :-

In a certain code language, Bring me water means Ki Pu Le; Don’t waste water means Do
Ki Ma; Bring that board means Le Tha Se. Which is the word for Bring in that code

language? / forelt W wis Hr ff, Bring me water &1 Hddd % Ki Pu Le; Don’t waste water &1
Hddd & Do Ki Ma; Bring that board &1 Hddd & Le Tha Se | 3! &8 ¥ § Bring & T o1 I

22
® Je
® Pu
* Ki
® Do
Correct Answer :-Le

5)



Question Stimulus :-

? % of 750 + 125 =425/ 750 &I ? %+ 125 =425
® 30%
® 35%
® 40%
* 32%
Correct Answer :-40%
6)

Question Stimulus :-

The speed of a car increases by 5 kms after every one hour. If the distance traveled in the first one hour was 45 kms,
then what is the total distance traveled in 7 hours? / TP Udh e W Uh PR &1 7t 5 foeeht d¢ STt %I gfe
Ugd e U a9 oI 75 g3t 45 fopdt &, a1 7 °9¢ ¥ qa & 15 gt R gl

e 400 kms / 400 fort

e 380 kms / 380 fopt

® 350 kms / 350 fopt

® 420 kms / 420 fort
Correct Answer :-420 kms / 420 fordt
7)
Question Stimulus :-

If 436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of A? / 'CI'% 436A X 232 =
10B2D80 W&i A, B, D TP &, dl A BT HIH T TRI?

Correct Answer :-5

8)



Question Stimulus :-

What should be subtracted from each of 9 and 3, and 16 and 4 to make them

ap_:_‘égortional?/ 9 3X 3, TG 16 3T 4 FHI JHUIAS T & fT yd® ¥ A |1 gern

Correct Answer :-2
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁl 3M&R TP @l G| T DI :_
bcc _ac _aabb _ab _ cc

® aabca
® abaca
® bacab

® bcaca

Correct Answer :-bacab

10)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1R & ¥ yTaT eRl T T@ATSH BT SIHH YA Bl 8| T JaIe UgHn=d|
(i) PQ1235AB5

(ii) PQ1235AB5

(iii) PQ1235AB5

(iv) PQ1253AB5

® j



® i

® jv
Correct Answer :-iv
11)

Question Stimulus :-

In the sequence shown below, which figure comes next? / i fRwrd M wu 'l?f, ST anvﬁr
P9 { grfi?

{1

i

Question Stimulus :-

Correct Answer :

12)

In a certain code language, You are watching cricket means Wa Cr Yo Ar; Cricket is a sport
means Yz Sp I Ar; You are a kid means Wa Cr Yz Ki. Which is the word for Kid in that code
language? / for<t @ wis v ﬁ, You are watching cricket &1 Hddd 8 Wa Cr Yo Ar; Cricket is
a sport T HAAd @ Yz Sp I Ar; You are a kid 1 Addd & Wa Cr Yz Ki | 33 &8 1T # Kid & fag

T T8 82

® Wa



® Cr

* Yo

® Ki
Correct Answer :-Ki
13)

Question Stimulus :-

-42-38+14-11+3 = ?

* 64

° 84

°* 74

e 54
Correct Answer :-74
14)

Question Stimulus :-

Find the average of all numbers between 100 and 180, which are multiples of 11? / 100

3R 180 & o &t Wt Twmait #1 iwa i, oY 11 F agqur € 2
e 140
e 145
e 143
e 138

Correct Answer :-143

15)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IRL] Gﬂ?ﬁf P g1 & o

a9 "© w7 feast didt @i it smazawar g



° 24
® 18
® 36
e 14
Correct Answer :-14

16)

Question Stimulus :-

A can do a work in 16 days and B can do the same work in 12 days, working together. What part of the work they
can finish in two days? / A U® ®TH $I 16 feal #§ & IPpar g M B It &4 F1 12 feaf & &= IHar g,
gfe 3 Ty firaes @14 $ed g1 2 oA & 3 w19 371 fa= 4T R R 99 32

Bl

°
| =

o | L

-

BT
Correct Answer :- 4

17)

Question Stimulus :-



Complete the series choosing the missing number: / AW JBIT gAHT 4TaT B R DI :
6,11,21,36,56,
® 42
e 51
® 81
e 9]
Correct Answer :-81
18)

Question Stimulus :-

If INSTITUTION is coded as NOITUTITSNI, how is PROCEDURE coded? / afg
INSTITUTION &I NOITUTITSNI ¥ &If&d f5dr @iTar 8, @ PROCEDURE & $ $ifgd fopar sran

a2
e ERUDEDORP
e ERVDECORP
e ESUDECORP

e ERUDECORP

Correct Answer :-ERUDECORP

19)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ e 33 T 9R gal 7 9 i 3 T ud & die quE 1 a1 e T8 72
Mr. I. K. Taneja

Flat No. 100

Triveni apartments

Pitam Pura

NEW DELHI-110034

INDIA



(i) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034

INDIA

(ii) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pritam Pura

NEW DELHI-110034

INDIA

(iii) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034

INDIA

(iv) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034

INDIA



® i

® jv
Correct Answer :-ii
20)

Question Stimulus :-
In a certain code, COLI..EGE is written as BNKKDFD. How is SCHOOL w.ritten in that
code? / {5l @RI ®Is #, COLLEGE & BNKKDFD for@t SITaT 8, df 39 ®s § SCHOOL &I &
forat s

e RDGNNK

e TBGNNK

e RBHNNK

e RBGNNK

Correct Answer :-RBGNNK

21)
Question Stimulus :-

In the foIIowing questipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, =T @A A TP US A 8| TAd UG FId BRI

196,169,144,120,100,
® 100
® 120
® 144
® 196

Correct Answer :-120

22)
Question Stimulus :-

What is 25% of 482 / 48 BT 25% T 22

* 12



° 14
® 10
e 13
Correct Answer :-12
23)

Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting a total of 10 or more is / a’ qﬁ@'\‘ﬂﬂﬁ"ﬂl T
HUTGT B TR BT Hf 10 TT ITH TSI 32

e 1/4
° 1/3
° 1/12
® 1/6
Correct Answer :-1/6

24)

Question Stimulus :-

In a certain code language, I love cricket means Liv Da Bin; I love music means Bin Liv Zo;
I play music means Zo Bin Na. Which is the word for Music in that code language? /

WY $IS YT #, I love cricket &1 Ha@d & Liv Da Bin; I love music &1 Hddd § Bin Liv Zo; I play
musicﬁﬂﬂ?l?f‘d%lo Bin Na| Wﬁ"&'WﬁMusie%ﬁl‘QWW%?

® Liv

® Da

® Bin

® Zo
Correct Answer :-Zo
25)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬂ &R gAP STdr T aﬂﬁm ta_c_abb_a_bc
_bc_ab



® chcaaa
® bcccab
® bccaac
® acbabc

Correct Answer :-bccaac

26)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting more than 10 is / 3-1 S WWQ%WI Tl
HUTGHT 8 & BT 10 A FTST 3MA?

e 1/4
° 1/3
® 1/6
* 1/12
Correct Answer :-1/12

27)

Question Stimulus :-

A Y /
[§+§]gf%—:1:}{1i_l [E+i]gf%—:1: 11_1
Simplify ‘ ! 43/99 % : 43aﬁwaﬂﬁq
3
o 4
1
. 6
1
o 5

Lh | k2



1
Correct Answer :- 6
28)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWAT FAHR 4TAT B TR HIOTC :

3,7,15,31,

® 60

® 65

°* 62

® 63
Correct Answer :-63
29)

Question Stimulus :-

Ramu brought an article for Rs. 300 & sold it for a gain of 15%. What is the selling price of the article? /
I 300 TUL B Th IE&g AT 3R 15% ATH A I 99 3411 axg &1 ot qer 7 g2

* Rs. 345/ ¥UU 345
® Rs.350 / ¥UU 350
* Rs.360 / ¥UU 360
° Rs.340 / ¥UU 340

Correct Answer :-Rs. 345 / ¥UU 345

30)
Question Stimulus :-

A train covers 400 meters distance in 24 seconds. Its speed is?/ U® aT-I 24 9%s ¥ 400 Hiex
Bt g8 T B g1 ITB! A §2

e 30 km/hr / 30 fHHt /deT
® 45 km/hr / 45 fHHY /gt

® 60 km/hr / 60 fHY /deT



® 75km/hr 75 ﬁﬂﬂ/ﬂa

Correct Answer :-60 km/hr / 60 &Y /geT

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Birds such as wood peckers have sharp pointed beaks to penetrate easily into the tree trunks so that / ﬁs & a1 &I

WRAdT ¥ e F T Fowisar o ufgal F o g @i gid & a1ie
® Force is concentrated in a small area / 9 Tch B 83'5[ W dfgd i?f
® The area of the pointed beak is larger than its head / ﬂ?ﬂﬁ 9" BT {‘-33[ 3'\‘@7 R @' 3w ﬁ'
® Force is concentrated in a large area / 9 Th a% 8-33[ R %@T‘T a
* Pressure exerted is small / T 4T 1§ HH B
Correct Answer :-Force is concentrated in a small area / ¥ Th IS easr R Hfgd ?f
2)

Question Stimulus :-

ABCD is a parallelogram with AB=7 cm and BC=5cm. The perimeter of the parallelogram is

3 / ABCD U JHiaR Igys € 9yt AB=7 9} 3k BC=5 I 1 3 JHIR Igus &1

e 24cm /24 9wt
e 12cm /129
e 35cm /359
* 24m/ 24 W

Correct Answer :-24 cm /24 91

3)
Question Stimulus :-

Study the following graph carefully to answer these questions: / 39 U4l &1 3R ¢4 & ferg =
faT T 91w BT wE A I B



Number of students studying Arts and Commerce in an
institute over the years

000 - "
%00 = - - =#r ART:
'y .
300 - s . .
-
T0D =+ - .* - -
_ "
&00 <+ L Y
"k
=00 =+ e -
400 + - 'Y
L}
300
2004
100 ==

What is the ratio between the total number of students studying Arts and Commerce together in 1999 and in 2001

respectively? / 1999 3f¥ 2001 H TeH 3R A TP ATY UgH aTd BT BT U HHT: T UT?
° 8:9
° 15:19
° 11:15
e None of these / 1H ¥ Pl gl
Correct Answer :-None of these / TH 4 ®I3 T8I
4)

Question Stimulus :-

Mamatha, Geetha, Meera started a business with an investment in the ratio 1: 3: 5. After 4
months, Mamatha invested the same amount as before and Geetha as well as Meera
withdraw half of their investments. The ratio of their profits at the end of the year is: /

Twar, 1ar, @A 1:3:5 & U § 9% 9 Ue AR 31 3[Esd 11 4 7 & Uy, 9d 15 @we wHar
= JuE A o= forar wd wiar & ary-ary 9k A eroel frawr § 9 enen fAeera foran | ad & oiq W 991
AT BT 3GUTE B :

® 5:6:10

® 4:3:5

® 10:5:6

® 6:8:10

Correct Answer :-5:6:10



5)
Question Stimulus :-

Which of the following objects cannot be charged easily by friction? / fgdda i ad Ty & [-1K4 | ST
¥ 3mafkra T #1 &1 AHdl 72

® An aluminium rod /QFQTﬂﬁW TS

® Aninflated balloon / §aT ¥ WX B3IT [edART

* A plastic scale / WIRe® Bt A

® An ebonite rod / @7'"32' 3| BS
Correct Answer :-An aluminium rod / TegHITOH &1 B8
6)

Question Stimulus :-

Musicians tighten the strings to tune their instruments to / Sfla®R A Tfid 37 & TR B
e & forT 39 IR @) 94 € aife

® |ncrease its pitch / m GIEGC K | Q@ 3-1
® Decrease its pitch / ?Na? TR« § pHl ?f
® Decrease the rapidity of vibrations / W i gddT H ot E?f
® Produce a shriller sound / dret safe S 'E?f
Correct Answer :-Increase its pitch / 3'\‘@? IR K| q@ |
7)

Question Stimulus :-

Study the following graph carefully to answer these questions: / 39 U4l &1 3w ¢4 & fog
U T WTE BT S | g Y



Number of students studying Arts and Commerce in an

institute over the years
1100
1000 £
%00 - = . =&~ ARTS
800 - A —8- COMMERCE
-

700 et
600 - '
T —
400 Y
300
200
100
o

1997 1508 1959 2000 2001 2002
YEAR

What was the average number of students studying Commerce for the given years? / ﬁ'Q' RILY aut # Sy tlaﬁ ard

BEl Ft 3aa J= & A
® 675
® 716
° 765

® None of these / F9H A 1§ T8l

Correct Answer :-675
8)
Question Stimulus :-

Study the following graph carefully to answer these questions: / 51 UH FTIIW A & fare EiE]
f3u T WP &1 W | g Y



Number of students studying Arts and Commerce in an
institute over the years

0 -
000 -t i
%00 = - - =#r ART:
‘- * ES
300 - - et . .
P -
TO0 = - .‘: - -
. w
00 - L ey
'3 “
00 =+ i - -
00 =+ - "
-
300
200
'!_('
- 15 20 fal 1) k|

If the number of students studying Commerce in year 2000 was increased by 20% and the number of students studying Arts
in the same year was decreased by 10%, what would have been the total number of students studying Arts and Commerce

in 2000? / 9f¢ T 2000 H HHT T I} DET I F@AT 20 Ufawrd 9¢1 <t 9W 3R I o # ady yed I
B! B W@ 10 UA=Td & TeT < 7Y, 99 a9 2000 H 1A 3R HIUH UgA 910 ST Ft $a @ F1 gRft?

® 1285
® 1385

® 1275

®* None of these / s_rl'ﬁﬁ?ﬂ's::fg)f

Correct Answer :-1275

9)
Question Stimulus :-

A sum of money becomes 8 times of itself in 3 years at compound interest. The rate of interest is: / Th YARTIRT m

TS WX 3 9Uf § W4 P 8 T gl Al 81 T P &R 8
* 100%
* 8%
* 1%
* 10%
Correct Answer :-100%

10)



Question Stimulus :-
gow many parallel tangents can a circle have at the most? / o=t qgd IR 3ifrpad fra-t IHiaR Wﬁfm E?r Tl
' ?

® |nfinite / 3

e 2
Correct Answer :-2
11)

Question Stimulus :-

Floor tiles, used for laying floor in houses, are made up of which unbreakable polymer material? / W H B

T ¥ T vl F1 er3a, fpa srge 9gae uard & =t gt @2
e pop / Uttt
* Clay /et firgt
® Thermoplastic polymer / YHTGATRESH TEAD
® Melamine polymer / AATHTS 9gIP
Correct Answer :-Melamine polymer / HATHIS SgA®

12)
Question Stimulus :-

Study the following graph carefully to answer these questions: / 39 U4l &1 3R ¢4 & forg =
3T T TP &1 = | T BY



Number of students studying Arts and Commerce in an
institute over the years

000 - "
%00 = - - =#r ART:
'y .
300 - s . .
-
T0D =+ - .* - -
_ "
&00 <+ L Y
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=00 =+ e -
400 + - 'Y
L}
300
2004
100 ==

During which of the following years was the percentage increase/decrease in number of
students studying Arts from the previous year was the minimum? / 9 & 3 f&9 adf & k=

AT U a1 B B G & ylawd # gig a1 H4t fusd ad 31 ga=r § <7aw 62
* 1998
* 1999
* 2000
* 2002
Correct Answer :-2002
13)

Question Stimulus :-

When you do a haircut you do not feel the pain. Why? / SI§ 3(T0 STall P Hedld 3 dd ATUD! &S Heqy Tal
gia1 81 | ?

® Because the uppermost layer of skin is dead. /alﬂ'ﬁ? T B WW Hd iﬂ?ﬂ %I

® Hair strands have dead cells. /a'l?ﬁ & T‘lﬂ - qd CAIREAR Eﬁ?‘ﬁ %.I

® The complete skin consists of dead cells. / '\‘I'Q:Uf < § Hd CAIREAD] ﬁ"%ﬂ @?ﬁ %.I

® The hair root has no nerve cells in it . /a'l?ﬁ' | S | ﬁ% GIEGA! aﬁﬁdw& qﬁ Eﬁ?ﬁ %.I

Correct Answer :-Because the uppermost layer of skin is dead. / TP aT BT g 9dg qd gt 21

14)



Question Stimulus :-

The power of an earthquake is expressed in terms of a magnitude on a scale called / ‘lﬁq @1 2ifedd & afvHTor %
ey W TP WTHH W Ao HaT 1T 8 & Hgardl @

® Fahrenheit scale / tFI?FIFITc’ THHT
® Kelvin scale / Hfea 9|1

® Richter scale / R T

® Decibel scale / SRyee B9

Correct Answer :-Richter scale / ¥ae? T

15)

Question Stimulus :-
Silvery white Sodium metal is a very reactive metal. In which liquid should it be stored to prevent its reaction
with air? / Tbg aiet JfSTH g 980 3t Frar=ita urg 81 arg & 91y 39! fuferar &t Ao & fow
91 fo5a ga 7 Jug foear sram anfee?

® Kerosene / THE! &1 d@

® Water /oIl

® Alcohol / TEHIGIA
* Dilute Sulphuric acid / T]Pd TERIND 3T

Correct Answer :-Kerosene /ﬁlﬁ T ad

16)
Question Stimulus :-

Temperature is defined as / dTHHTA G| e PR ufyuTia foear mar % :
® Measure of Degree of coldness / 38 ! f&3it &t 9
® Measure of Degree of hotness or coldness / Tt a1 3 @ feft &Y |
® Measure of Degree of hotness / T 9 f&3t &t wry
® All the above / JWRYa A+

Correct Answer :-Measure of Degree of hotness / Tt #t f&3ht ot 7

17)



Question Stimulus :-
Study the following graph carefully to answer these questions: / 51 U HTIWW A & ﬁl‘Q =
U T WP &1 S | g Y

Number of students studying Arts and Commerce in an
institute over the years

D =
000 -+ ik
900 - - - =i AR
'y BIRIE S
300 -+ - s .
-
oD = - .‘ - —
L
00 < - d el
"k
00—l -
400 -+ - *.-
-
00 -+
200
'!_(' -
# i 200 i X

Approximately what was the percentage increase in number of students studying Arts and Commerce together from

:397t02002?/1997®zooza$&n€vGﬁ?ﬁnﬁwmquaﬁmﬁmﬁ%mﬁmwﬁﬂﬁﬁﬁgé

® 115
® 55
® 75
® 125

Correct Answer :-125

18)
Question Stimulus :-

During breathing, the diaphragm is pushed up during / 4aq ﬁ, SHWH $I fba ?RT-'-I
SHUR YH AT oAl B

® Inspiration / ﬁm
® Expiration / ﬁm m
® Rest/ fayma

® Exercise / ATATH



Correct Answer :-Expiration / fF1%9= IHT{GT

19)

Question Stimulus :-
The main concern over the use of CFL is that / HIThTa & IUaNT ® yy@ fiar &1 fdwg a5 2 f

* it is not durable / 48 fRoTa TE®
e it is very costly / Ug 9gd Wt 3
® it consumes more energy / 4% 3fYe FHef IUHNT Bl %

® it contains mercury which is toxic/?g'\"-l'a: qIRT ﬁ?ﬂ % K| ﬁﬁ?n @Tﬂ %
Correct Answer :-it contains mercury which is toxic / E'H'ﬁ' IR ?I?IT % o fasar @'\"IT %

20)
Question Stimulus :-

Select the type of carbohydrate that can be digested by ruminants but not by human. / 39 aﬂ_@ﬁ?l%%? CARCDE]

HIRY S FAe §RT 99 IHaT § W Td gRT 781
® Sucrose / & QAR
* Cellulose / ATAT
® Starch/HS
* Glycogen / TATEDIGH
Correct Answer :-Cellulose / Sqa
21)

Question Stimulus :-

When Amoeba senses some microbe,it pushes out pseudopodia around it and engulfit
which is trapped in a / 5 ST $T YEASIE! DI AEHH HIAT &, I§ UIGTH B 30
ARY R FTaar 8 ok geatia &Y uRugor owar 8 <t fs T BT 8

® contractile vacuole / W’Qﬂﬁ Tt
® food vacuole / WT<] fefaaar

® vesicle /ST TpIfedT

® gasvacuole/ 9 ffedaer




Correct Answer :-food vacuole / @Te fRfdaaT

22)
Question Stimulus :-

If0 = ) s 90°, the maximum value that cos E can take is / gfigo = =

90°, d9 cos ¢ &1 aftrpad 7 forar <1 g 2|

Correct Answer :-1

23)
Question Stimulus :-

Fishes, frogs etc lay eggs in water. The sperms shed by males, reach the eggs to form zygote. Name the kind of

fertilisation / WSTerar, Hew onfe o # 3T 3a &1 R §RT BIS T IEHIY] 3(S TP UG HR A B
frator s34 €1 ge 59 R &1 = 82

® Internal fertilisation / Y& fAY==
® External fertilisation / T3l fO==
® Invitro fertilisation / T f8==
® Post fertilisation / R
Correct Answer :-External fertilisation / 9Tg31 o=

24)
Question Stimulus :-

Which of the following statement is true? / fadaa S AT HYT I %?
® Two lines may intersect in two points / am, ﬁﬁgéﬁwﬁﬂﬂﬁﬁﬁﬂaﬁﬁ%
e Every ray has a finite length / Q% %301 &1 ararg ifva gl 8

* Three lines are concurrent if they have a common point / 9 Y@ TR gt 8 afe 399
s fig swafiw &



. %‘)nly a single line may pass through a given point / f3t 7t fdg & Rk e 8 Y TR Jat

Correct Answer :-Three lines are concurrent if they have a common point / 919 Y@1¢ It

gt 3 afg 574 u& foig swafe @

25)
Question Stimulus :-

The unit’s digit in the product 274 * 318 * 577 * 513 is / 274 * 318 * 577 *
513 UFGH § SHIS BT 3P @

Correct Answer :-2

26)

Question Stimulus :-

If , then the value of x is / afe , df x T HH

Correct Answer :-4

27)

Question Stimulus :-

The cell theory was proposed by / HIfPT Rrgia 3_-@‘7 GRT YRITIUd &t 11% i}
® Robert Hooke & Leeuwenhoek / ITC §P 3R TATID



® Schleiden & Schwann / uﬁgs-vr 3R o
® Robert Hooke & Schwann / Jq¢ §P 3T oy
® Schleiden & Leeuwenhoek / '-‘ZaEET-[ 3R F'q\a%\'h?

Correct Answer :-Schleiden & Schwann / Qﬁg@‘[ 3R Y=

28)
Question Stimulus :-

The perimeter of a semi circle of radius ‘r’ is . /ﬁ?ﬂ ‘v ®H 3‘[?].@?[ &1 gAY %

. a2

Correct Answer -7

29)
Question Stimulus :-

Litmus, a natural dye, is and extract of / foleU¥, T& WIHfa® WP, IR § TIDI -

® Chinarose / dIg-l Rk |

* Beetroot / JhGY
® Lichen / W

® Blue berries (jamun) / SITHA

Correct Answer :-Lichen / @IS

30)
Question Stimulus :-

is not a perfect cube. / U 3Mext 9= T8l gl

°* 2197



® 1458

* 1331

* 2744

Correct Answer :-1458



